
Course code: 08EE7221(C)
Course Name: Renewable Energy Technologies

Time:3 hours Max.marks:60

Answer all six questions.

Modules 1 to 6:Part 'a' of each question is compulsory and answer either part'b' or part 'c' of edch question.

(Add any other instruction specific to course here like the use of IS codes/design tables etc.)
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Q.no.

l.a

Module I

State the significance of Renewable energy System.

Answer b or c

What are the various Renewable Energy Systems?

Explain the recent developments in Renewable Energy Sector.

Marks

3

b

c

Q.no. Module2 Marks

2.a Wind speed is l0m/s at the standard atmospheric pressure. Calculate (i) the 3

total power density in wind stream, (ii) the total power produced by a turbine of
l00m diameter with an efliciency of 4To/o.Air density : l.226lkg.K/m3

Answer b or c

b Describe *ith a neat sketch the working of a Wind Energy System with main 6

components.

c Explain about the extraction of energy from wind and derive the expression for 6

total power in wind stream.

Q.no. Module 3 Marks

33.a Draw the power speed characteristics of wind turbine.

Answer b or c

b Draw and explain wind power generation curve.
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Explain the Fixed S@ Inductinn Generator configurations for wind
gseration.

Q.so. Modute 4 ;'

4e, Y!+are tle types ofPV cells?

Arswer b or c

b Srrybin s&nd alone urd grtd conn# wts energy system.

- " 
Explain rnaximwapor*er#iry*i'#arqysysbm.

Q.m. Modele 5 '

::..::

5a ri{ith brief descrigiur writ€ th fu affecting Biogas ryctioilt?
Awwer b or c

,:'

b With neat diagram explain about biornas gasifiers.

c Exp*ain about the vsiors biomass csnr,ersion technologies
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Q,ao. Itioeale 0 Msr*s

6.a With ned di{Uram explain about Osciltating DEks wave energy cqtversion 4

nrrchines.

A"lswer b or c

b. \Yiih neat diagraalexplorn- the dwelopment of electric poly€r ftom geotherrnal ' - I
r€sounoes.

c Derive tk math€mdioal analysiscf,wsv€ energy in terms of
Kinei+Energy, Tofial Ensgy ard Wave Power.
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